



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$1^{(-2)} - 5 =$$

$$(-4) - (-3) =$$

$$3^{(-1)} - 4 =$$

$$(-4)^2 + 2 =$$

$$(-3)^2 + 6 =$$

$$9^2 + (-5) =$$

$$(-6) + 6 =$$

$$(-1)^2 - (-7) =$$

$$(-6)^{(-2)} + 4 =$$

$$5^0 + 9 =$$

$$1^{(-1)} - 2 =$$

$$(-4)^{(-2)} - 7 =$$

$$(-9)^{(-1)} + (-2) =$$

$$5^{(-2)} + 9 =$$

$$(-8)^{(-2)} + (-6) =$$

$$(-3) + 4 =$$

$$(-9)^{(-2)} + 6 =$$

$$(-9)^{(-2)} - (-9) =$$

$$6^2 - 1 =$$

$$9 - 4 =$$



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$1^{(-2)} - 5 = (-4)$$

$$(-4) - (-3) = (-1)$$

$$3^{(-1)} - 4 = \left(-\frac{11}{3}\right) = \left(-3\frac{2}{3}\right)$$

$$(-4)^2 + 2 = 18$$

$$(-3)^2 + 6 = 15$$

$$9^2 + (-5) = 76$$

$$(-6) + 6 = 0$$

$$(-1)^2 - (-7) = 8$$

$$(-6)^{(-2)} + 4 = \frac{145}{36} = 4\frac{1}{36}$$

$$5^0 + 9 = 10$$

$$1^{(-1)} - 2 = (-1)$$

$$(-4)^{(-2)} - 7 = \left(-\frac{111}{16}\right) = \left(-6\frac{15}{16}\right)$$

$$(-9)^{(-1)} + (-2) = \left(-\frac{19}{9}\right) = \left(-2\frac{1}{9}\right)$$

$$5^{(-2)} + 9 = \frac{226}{25} = 9\frac{1}{25}$$

$$(-8)^{(-2)} + (-6) = \left(-\frac{383}{64}\right) = \left(-5\frac{63}{64}\right)$$

$$(-3) + 4 = 1$$

$$(-9)^{(-2)} + 6 = \frac{487}{81} = 6\frac{1}{81}$$

$$(-9)^{(-2)} - (-9) = \frac{730}{81} = 9\frac{1}{81}$$

$$6^2 - 1 = 35$$

$$9 - 4 = 5$$